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, His marriage was
(a) rescinded

2015-16
t-A)

o - DY the judge.

(c) annulled Eg’; zbi)‘“Shed
) Bail is synonymous with. xtirpated
. (2) Appellate  (b) Arbitrat; ot
By A convict Is a: ration (c) Testimony (d) Bond
¢ (a) Litigant

- (b)) A
(C) An 1nnocent person ( ) n accused person

~ (d) A person declared guilty by court

" 4 Ex parte means.

~ (a) An old law suit (B} Onesided
(C) Pan}; —based pOIitical system
(d) An obsolete political party

§5. Felonyis:

~ (a) An indoor game " (b) A joke

 U(c) An offence ~ (d) A parable

- 6. Which is the correct speiling:

. (a) Incameration (b) Incarcenration

E (C) Incarceration | (d) [ncirciration

- 7. Which is the correct spelling: '

- (a) Jouveuile ’ (b) Juavenaile

P (<) Jurventile 3 ' (d) Juvenile

- 8. Lien refers to one’s: ,,

= (a) Claim | (b) Marital status
(¢) Ancestral roots © + (d) Home town

9. He dommitted perjury means that:

(a) He disagreed with jury

(b) He gave a false statement under oath
~* (c) He tried to commit suicide
- (d) He filed a law su :
0. The judge rescinded means that.
~ (a) He reserved judgment

(b) He awarded a sentence

(¢) He vacated a coutt order
~ (d) He summoned W Itness
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BEhic hedicinehasa ‘___anmtu.ﬂ.ofalcolml:
(a) Negligent (b) Ncglgg}lz'le
- (¢) Neglectful (d) Neghgable
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BALLB-10 2015-16
Who 1§ a prosecutor?
(a) A bigot (b) A high judicial officer
(¢c) A dependant (d) An attorney
Pointing to the lady on the p’ dtform Manju said, ©“ She is
the sister of the father of my son”. Who is the lady to
Manju?
(a) Mother (b) Sister (c) Aunt (d) Niece
Three persons A, B and C are standing in queue. There are

five persons between A and B and eight persons between

B and C. If there are three persons ahead ot C and 21
persons behind A. what could be the minimum number of
persons in the queue?

(a) 41 (b) 40 (c) 28 (d) 27
I[dentify the word closest in meaning to *Loquacity .

(a) Misery (b) Fantasy (c) Il health (d) Talkativeness
Who was the president of the constituent assembly?

(a) Pandit Jawahar lal Nehru  (b) Dr. Rajendra Prasad
(c) Dr. B.R.Ambedkar (d) C. Rajagopalachari
What is the full form of SFIO?

(a) Systematic Fraud Investigation Office

(b) Securities fraud Investigation Office

(c) Severe fraud Investigation Office

(d) Serious Fraud Investigation Office

18.-The constituent assembly arrived at decisions on the

9.

various provisions of the constitution

(a) by a majority vote (b) by a two-third majority
(c) by consensus (d) unanimously

Bankers generally do not allow opening of accounts in the

name of

(a) executors and trustees

(b) persons of unsound mind

(¢) visually impaired persons  (d) illiterate persons

. The reference of Hindus in Artlcle 25 of the constitution

does not include

(a) Buddhists  (b) Jains ((,) Parsees (d) Sikhs
‘Eco Mark™ is the certificate of a product by the Bureaue
of “Indian standards testifying that the product is |
(a) Economically priced = (b) env ironmentally suited
(¢) Not perishable (d) of good quality

’
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~ (c) Solar System
33, Crocodile tears means

(c) to get hysterical
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BALILB-11} 2015-16

A person of vood » |
- ( Iy
= lllldLl&»l:lll(llll}L |~;n(}\'»|t‘t|}{(‘ and reasoning

(a) Expert (b) Intellectual (¢) Snob  (d) I 1terate

;22,:3?1::|]:0CI3I'S! was added by the -------- constitutional
(a) 44" (D)ARE " ¢ (g} 281! (d) 24"

_Indian federal system is modeled on the federal system of
(a) USA (b) UK (c) Canada  (d) France

- Which court s regarded as the Guardian of the

Fundamental Rights of the people

(a) Pr.ivy council (b) Federal Court
(¢) ng.h Court (d) Supreme Court
. Paddy is related to field in the same way as steel is related

(a) Mir.\e (b) Factory (c) Iron (d) Ore
27. Direction: Choose the correct alternative

Book : Publisher:: Shoe =som—ciaio_-o 9

(a) Producer  (b) Director (¢) 'r:;‘di'tor (d) Writer
The First Indian High Courts Act came into existence in
() 1867 (b) 1861 (c) 1864 (d) 1865

Which of the following is not condition for becoming a
citizen of India? |

5 (a) Birth ~ (b) Acquiring properly

(c) Descent (d) Naturalization
The proclamation of emergency at the first instance can be

restricted to ~
(a) 3 months (b) 15 days (c) 6 months (d) 60 days

. The High Courts in India were first started at

(a) Bombay, Madras, Calcutta (b) Delh & Calcutta
(c) Bombay, Delhi, Madras (d) Madras and Bombay

‘In this question two objects relations in some way are

ilar relationship has to be identified
‘) ‘

.(b) Planet
- (d) Asteroid

given and another Sim
Moon: Satellite :: Earth :--------
(a) Sun -'

(b) to sincerely use something

(a) hypocritical tears

(d) tears caused due to presence of ammonia in something
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43.

44.

45,

(a) Rovers cup
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. Which Indian became the President of International € ourt

of Justice?

(a) Justice HR Khanna (b) Jiistice Ayt Ray

(¢) Dr. Nagendra Singh (d) Justice P.M. Bhagwat
The oldest tournament of football in Indja 15

(b) Santosh Trophy

(¢) Durand Cup (d) IFA shield

| eS8 1S, 27 (hauis .y )

(a) 37 (b) 44 (c) 50 (d) 55
Odd man out

(a) AZ (b) BY (c) CX (dy DU

[t the world KNIFE is coded as MPKHG. what do the
letters DTGCF stand for?

(a) BARED (b) BRAED (c¢) BRADE (d) BREAD
[t HARD s coded as 1357 and SOFT is coded as 2468.
what do the figures 21448 stand for

(a) SHOOP (b) SHOOL - (¢) SHOOT - (d) SCOOL
Number of fundamental duties enshrined in the Indian
constitution are:

(a) 9 (b)) 10 (c) 11 (d) 12
Who decides whether a member of parliarent is subject to
any disqualification?

(a) President (b) Speaker

(c) Election commissioner (d) Prime Minister

Which is the longest Dam in India? ~ |

(a) Bhakra-Nangal (b) Rrhand

(¢) Hirakund (d) Nagarjuna Sagar
Legislative powers are vested in the:

(a) President  (b) Parliament (c) P. M. (d) Governor
What s the chief source of political power in India?

(a) The People (b) The constitution

(c) The parliament

(d) The parliament & state Ieglslatwe guls

When was the constitution .of lndla first amended after

* adoption?

46.
(a) India : Rupee
(¢) Iran: Riyal

(a) 1954 (b) 1‘95-9' (d) 1951

(c'i) 1950'
Findithe odd one’out: . L b 00
-(b) USA : Dollar

(d) Turkey: Euro




BALLB-13 2015-16!
17. Choose the correct one to complete the series
Teacher: pen: student: Book: Tailor:Cloth:Cobbler.... .. f
+ (@) lron  (b) Wood (¢) l.eather (d) Paper
L 48. If ‘URDU" is coded as 64 and *ARABIC is coded as 34.
- then how "LAW"™ will be coded?
(a) 36 (b) 38 (¢) 42 (d) 54
19. If A" 1s the brother of the son of B’s son, then how "A 15
related to "B’?
. (a)Son (b) Grandson  (c) Cousin (d) Brother
50. Find the odd one out _
- (a) BEG (b HKM (c)PSU =, (d) TVX
- 5]. Consider the series and give the next correct number
' R SRR T R %
(a) 26 (b)28) (c)24  (d)30
- 52. Examine the given statements and tick the suitable answer
(1) Some animals eat leaves
. (2) All goats are animals
(a) All goats eat leaves
(b) Some goats eat leaves
(c) Some goats do not eat leaves
(d) None of these '
53. What will be the angle at 3 p.m. between the two hands of

a clock? -

. (a) 120° (b)45° ( ) 60° (d) 90"

54, If *-* stands for ‘addition’, "+ stands for “substraction’, "X

. stands for ‘divison’ and ¢+’ stands for multlphcanon then
205155 =000 7 |

= (a)158 (b) 64 (c)68 (d) 90

- 5. If yesterday was Wednesday’s ‘tomorrow and tomorrow

9

~ (a) Sunday (b}Thursday (c) Fnday (d) Monday
- 56. Look at the series and find the missmg term '
3/36,6/49,9/ L1,12/81,15/100

B (2) 48 0= K (b) 52
" 57. Insert the missing number
B (a)20 ‘
(b) 30
(c) 25

(d) 28



BALLB-14 2015-16
>8. AKbar and Arun start from their school and travel on their
bicycles in opposite directions, each travelling 6 kms
Akbar then turns left and travels 6 kms. While Arun turns
right and travels 6 kms too. How far are tlm from each
other?
(a) 16 kms (b) 18 kms (¢) 12 kins (d) 14 kms
59. Find the odd one out
(a) Iran  (b) Germany (c)'Washington (d) Turkey
60. Examine the given statements and mark the right
answer:(i) All residents are citizens
(11) All voters are residents
(a) All residents are citizens
(b) Some residents are voters
(c) All voters are citizens . (d) None of the above
61. If yesterday was Thursday’s tomorrow and tomorrow was
Monday’s Yesterday, then what day it would be today?
(a) Sunday (b) Saturday (c) Friday (d) Monday
62. The word *default’ means
(a) To commit a serious crime
(b) To commit a minor crime
(c) To tail to provide a witness
. (d) To fail to do what one should do
63. The phrase ‘ex gratia’ means something done as a

(a) Solution {b) Reward
- (c) Favour (d) Punishment
64. The phrase ‘sine qua non’ means:
(a) Till exist (b) without evidence
(c) Unnecessary part ~ (d) Essential condition
65. The term “veto” stands for:
(a) | permit (b) I forbid
(¢) | surrender (d) I agree
66. Tick mark the correct spelling:
(a) Homogenous | (b) Homogeneous
(c) Homogenious (d) Both (a) and (b)
67. A ‘persona non grata’ is someone who =
(a) Is not accéptable ~ (b)Is not respectable

(¢) Is without mercy (d) Is without repentence



. Which article of the

| BALILB-15 2015-16
Who was the hero of 3 hundred battles”

(a) Chandragupta [

v (b) Chandragupta |
(¢) Samudragupta

(d) Skandagupta
‘ constitution  contains  provision
ot‘})rt)tect!on and improvement of environment  and
sateguarding of forest and wild life?

(a) Article 39-A (b) Article 43 A

(c) Article 48 A (d) Article 51 A
. The meaning of the word *sore’ is

(a) Fly high (b) Paintul

(¢) To stitch (d) To Peep

- 74  fc
.~ order, which word

ks
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. In certain code TELEPHONE is written as ENOHPFLET.

How 1s ALIGATOR written in that code?

(a) ROTIGILA (b) ROTAGAIL
(c) ROTAGILE (d) ROTEGILA
. A man 1s facing North-West. He turn 90° in the clockwise

direction and then 135° in the anti clockwise
direction. Which direction is he facing now?

(a)East | (b) West
(c¢) North (d) South |
. In a certain code P is #. A is %, C is @ and E is @. How is
- PEACE written in That code?
QA f@%@# by @# 0@
()% # @D % 3 (#@% 0 @
[f the following five words are arranged in alphabetical

Will come in the third place?

(a) Draw - - (b) Read
(c) Play | ‘ (d) Back LRRe
Consider the given statements and mark the right

answer:

(1) All creatures are mortal

(2) All human beings are creatures

(a) Sonie creatures are mortal

(b) Some human being are creatures
(¢) All human beings are mortal
(d) None of the above



BALLB-16 2015-16
PART - B

Instruction:- The following questions should  be
answered in English is not more than 50 words cach in
the space provided.

76. “Law is an instrument of social change™. Comment.

77. How has technology contributed to globalization.

78. =Child labour 1s a serious menance to our country
comment.

79. list some major challenges to Indian democracy.

80. He who seeks equity must do equity: Elaborate.

81. A person will not be allowed to enriet himself at the

cost of mother”. Comment.

82. How will you support Indian’s candidature for the
permanent membership of the security council?

33. Explain the concept of "media trial

84. ““Criminal Justice system in India in a failure”
Comments. '

85. What do you understand by c0ood governance.

Answers: BALLB - 2015-2016 (Part - A)
l-c. 2-d. 5-d. 4-b. 5-c. 6-c. 7-d. 8-d, 9-b, 10-c. 11-b. 12-d.
[3-c l4-c [o-duek6’biil7-d, 18-c. 19-b. 20-c¢21b.22-b.
25:0, 24-c325-dx 26:b127-a. 28-b. 29-b, 30-c, 31ic. 32-b.
33-a, 34-c.'35<¢, 36cB7-d. 38-d. 39-¢c. 40-c. 41-b: 42-c.
43-b, 44-a: 45-d, 46-d, 47-c, 48-a. 49-b. S0-d. 51-b. 52-b.
53:d, 54:b, 55-c. 56-c. 57-¢c5E 50605 6 1b. 62-d.
63-c, 64-d, 65-b, 66-d, 67-a. 68-c. 69-c. 70-b. 71-a. 72-b.
73-d, 74-c, 75-c |
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